ERRATA CHAPTERS 1-6
Green = corrections sent in
Red = corrections that appear too significant and would likely impact flow, and so were not submitted 
Asked corrections if swap is possible


[bookmark: _GoBack]Chapter 1.
p. 11, positive charge is missing from lithium in equation:
	CH3– + Li+ + H2O  CH4 + Li+ OH–
p.12, Replace water with methanol in sentence beginning at line 11 of the paragraph titled, "Leveling Effect," with: "Using the equation of Worked Problem 1-3 (a) above, we see that if one tries to use methyllithium in methanol, the solvent reacts with the base to give lithium methoxide (the conjugate base of methanol) and methane."
p. 20, paragraph 2, first sentence should read: "Most of the time, the kinetic order and the molecularity of a reaction correspond, but this is not universally the case, as the acid-promoted reaction between tert-butyl alcohol and bromide ion shows."
p. 35, Question 1-28 should read: "Each of the species below is a 1,3-dipole that will react with a multiple bond to give a five-membered heterocyclic product.  Each of the 1,3-dipoles is stabilized by resonance."

Chapter 2.
p. 57, "l" is missing in the first line below the equation: "where  is the observed rotation, l is the path length in dm, …"
p. 66, The last sentence in the third paragraph should read: "This conformation, which is flexible, is some 5 to 6 kcal mol–1 (20 to 25 kJ mol–1) higher energy than the chair."

Chapter 4.
p. 110, footnote ¶: is missing from the right-hand side of all three equations
		2px: (3/4) ½sincos = (3/4)½x
		2py: (3/4) ½sinsin = (3/4)½x
		2pz: (3/4) ½cos = (3/4)½x
p. 123, bottom line should read: "This is illustrated on the previous page for two typical…"
p. 125, line below diagram should read: "As is evident from the dioagram above, the overlap…"

Chapter 5.
p. 139, 4th line below diagram should read: "aldehyde can be represented using traditional resonance models as shown above."
p. 151, Add the following after the last sentence of the answer to Worked Problem 2, above the diagram: "The conversion of the starting compound to the bicyclic carbocation may also be concerted. What will the mechanism for that reaction be?"
p. 153, Figure 5.22 should be:

[image: ]

p. 156, Figure 5.26 caption: "SN2" should be "SN2"
p. 157, Problems:
5-13 The four structures A-D below are chair-chair conformations of the molecule at the left.  Arrange them in approximate order of stability, and give reasons for your choice.

[image: ]

5-14 Draw the frontier orbital overlap for each of the following cyclization modes: 3-endo-dig, 3-endo-trig, 3-endo-tet, 4-exo-dig, 4-exo-trig, 4-exo-tet, 5-endo-dig, 5-exo-dig, 5-endo-trig, 5-exo-trig, 5-endo-tet, 5-exo-tet, 6-endo-dig, 6-exo-dig, 6-endo-trig, 6-exo-trig, 6-endo-tet, and 6-exo-tet.  Where appropriate, use one of the compounds below to illustrate your answer (it may be necessary to use another compound in some cases):

[image: ]

p. 160, delete Problem 5-14 and replace Problem 5-15 with:
5-15 The cyclization of the 5-hexenyl cation and the 5-hexenyl radical lead to very different products, as shown below.  Rationalize the differences between these two reactions.
[image: ]

Chapter 6.
p. 163, Table 6.1, row 1, left should be :
[image: ]

p. 169, Figure 6.5: correcting a typographical error:
[image: ]

p. 176, line 3 should read: "like transition state, which has been calculated to be favored by 2.5 to 3.0"

p. 205, line 1, missing right parenthesis: (the Cope elimination)
p. 205, Reaction Synopses, Regiochemistry first line: alylic should read allylic

p. 207, Figure 6.24: all the right-hand parentheses are missing in this diagram (was it made too large when it was printed?).

p. 207, Problem 6-19 should refer to Figure 6.24, not Figure 6.23.

p. 212 footnote A to Table 6.9 should read: A: MP2/6-31G//3-21G + ZPE
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